BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

# CONSTRUCTION OF THE DRAINAGE FACILITIES TO SERVE SPRING CREEK TRAILS SECTION 1 PHASE 2

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 159 MONTGOMERY COUNTY, TEXAS FEBRUARY 26, 2025 LIA ENGINEERING, INC. A.CAROTHERS FEBRUARY 27, 2025 2022-2116 (9.2)

BIDDER NAME	BASE BID
1) MTEX CONSTRUCTION, LLC	\$598,480.00
2) KEAN CONSTRUCTION LLC	\$616,999.00
3) FELLERS AND CLARK LP	\$636,000.00
4) CROSTEX CONSTRUCTION INC.	\$695,000.00
5) KENNETH LAMB CONSTRUCTION CO.,LTD.	\$715,045.00

# CALENDAR DAYS 15/25



I, Sebastian Guio, PE, hereby certify these bid tabulations to be true and correct.

### CONSTRUCTION OF THE DRAINAGE FACILITIES TO SERVE SPRING CREEK TRAILS SECTION 1 PHASE 2

BID OPENIN BID OPENIN TABULATIO TABULATIO LIA JOB NO.	IG LOCATION: N BY: N DATE:		M FE U A. FE	ONTGOMERY COUN ONTGOMERY COUN BRUARY 26, 2025 A ENGINEERING, INC CAROTHERS BRUARY 27, 2025 122-2116 (9.2)		DISTRICT NO. 159					
				1) MTEX CONS	STRUCTION, LLC	2) KEAN CONST	RUCTION LLC	3) FELLERS AN	D CLARK LP	4) CROSTEX CONS	TRUCTION INC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
1.48	VER SYSTEM ITEMS - MUD REIMBURSABLE " RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND ICKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	463	\$287.00	\$132,881.00	\$290.00	\$134,270.00	\$296.80	\$137,418.40	\$275.00	\$127,325.00
	K5' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES IDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	108	\$582.00	\$62,856.00	\$613.00	\$66,204.00	\$618.05	\$66,749.40	\$560.00	\$60,480.00
	INFORCED CONCRETE TYPE "C' MANHOLE FOR 48" STORM SEWER AND RGER INCLUDES ADJUSTEMENT, (ALL DEPTHS), COMPLETE IN PLACE	EA	2	\$7,600.00	\$15,200.00	\$8,800.00	\$17,600.00	\$14,559.10	\$29,118.20	\$14,000.00	\$28,000.00
4. TR	ENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	571	\$1.00	\$571.00	\$1.00	\$571.00	\$0.15	\$85.65	\$1.05	\$599.55
GE	ORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES ENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN H BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$750.00	\$750.00	\$1,000.00	\$1,000.00	\$953.45	\$953.45	\$2,181.55	\$2,181.55
ST ST	GRADE EXISTING DRAINAGE SWALE, INCLUDES EXCAVATION, STRIPPING, OCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% ANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE- PLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	515	\$22.00	\$11,330.00	\$7.00	\$3,605.00	\$12.70	\$6,540.50	\$10.00	\$5,150.00
CC	INFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED DNCRETE TYPE "E" INLET TOP, TWO SIDES OPEN, INCLUDES ADJUSTMENTS, L DEPTHS, COMPLETE IN PLACE	EA	1	\$15,700.00	\$15,700.00	\$25,000.00	\$25,000.00	\$16,408.00	\$16,408.00	\$29,000.00	\$29,000.00
SLO	MOVE AND OFFSITE DISPOSAL OF STORM SEWER OUTFALL, INCLUDES OPE PAVEMENT, SLOPED END TREATMENT, AND ALL APPURTENANCES, L SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$5,700.00	\$5,700.00	\$3,300.00	\$3,300.00	\$2,860.40	\$2,860.40	\$20,000.00	\$20,000.00
	MOVE AND RELOCATE 18" THICK CONCRETE RIP RAP, INCLUDES PLACEMENT OF GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	148	\$86.00	\$12,728.00	\$33.00	\$4,884.00	\$63.55	\$9,405.40	\$100.00	\$14,800.00
SUBTOTALS	STORM SEWER SYSTEM ITEMS - MUD REIMBURSABLE			-	\$257,716.00	_	\$256,434.00	_	\$269,539.40		\$287,536.10
1.48	VER SYSTEM ITEMS - PRIVATE ITEMS " RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND ICKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	130	\$287.00	\$37,310.00	\$290.00	\$37,700.00	\$296.80	\$38,584.00	\$275.00	\$35,750.00
	K5' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES IDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	177	\$582.00	\$103,014.00	\$613.00	\$108,501.00	\$618.05	\$109,394.85	\$560.00	\$99,120.00
	INFORCED CONCRETE TYPE "C' MANHOLE FOR 48" STORM SEWER AND RGER INCLUDES ADJUSTEMENT, (ALL DEPTHS), COMPLETE IN PLACE	EA	3	\$7,600.00	\$22,800.00	\$10,100.00	\$30,300.00	\$14,110.65	\$42,331.95	\$14,000.00	\$42,000.00
4. TR	ENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	307	\$1.00	\$307.00	\$1.00	\$307.00	\$0.15	\$46.05	\$1.05	\$322.35
GE	ORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES ENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN H BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,250.00	\$1,250.00	\$1,000.00	\$1,000.00	\$953.45	\$953.45	\$2,291.55	\$2,291.55
ST ST	GRADE EXISTING DRAINAGE SWALE, INCLUDES EXCAVATION, STRIPPING, OCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% ANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE- PLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	98	\$22.00	\$2,156.00	\$7.00	\$686.00	\$12.70	\$1,244.60	\$10.00	\$980.00

### CONSTRUCTION OF THE DRAINAGE FACILITIES TO SERVE SPRING CREEK TRAILS SECTION 1 PHASE 2

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 159 MONTGOMERY COUNTY, TEXAS FEBRUARY 26, 2025 LIA ENGINEERING, INC. A.CAROTHERS FEBRUARY 27, 2025 2022-2116 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.			MONTGOMERY COU FEBRUARY 26, 2025 LJA ENGINEERING, IN A.CAROTHERS FEBRUARY 27, 2025 2022-2116 (9.2)								
				1) MTEX CON	ISTRUCTION, LLC	2) KEAN CON	STRUCTION LLC	3) FELLERS A	ND CLARK LP	4) CROSTEX CONS	STRUCTION INC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "E" INLET TOP, TWO SIDES OPEN, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$15,700.00	\$15,700.00	\$25,000.00	\$25,000.00	\$16,407.55	\$16,407.55	\$29,000.00	\$29,000.00
	REMOVE AND RELOCATE 18" THICK CONCRETE RIP RAP, INCLUDES REPLACEMENT OF GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	187	\$86.00	\$16,082.00	\$33.00	\$6,171.00	<b>\$63</b> .55	\$11,883.85	\$100.00	\$18,700.00
	OUTFALL SLOPE PROTECTION NO. 1 FOR 5'X5 RCB STORN SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOXTEXTILE FABRIC, COMPLETE IN PLACE	EA	1	\$6,745.00	\$6,745.00	\$25,000.00	\$25,000.00	\$9,534.65	\$9,534.65	\$30,000.00	\$30,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

#### CONSTRUCTION OF THE DRAINAGE FACILITIES TO SERVE SPRING CREEK TRAILS SECTION 1 PHASE 2

NG

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 159 MONTGOMERY COUNTY, TEXAS FEBRUARY 26, 2025 LJA ENGINEERING, INC. A.CAROTHERS FEBRUARY 27, 2025 2022-2116 (9.2)

				5) KENNETH LAMB C	ONSTRUCTION CO.,LTD.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
	SEWER SYSTEM ITEMS - MUD REIMBURSABLE 48" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	463	\$323.00	\$149,549.00
2	5'X5' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	108	\$637.00	\$68,796.00
3	REINFORCED CONCRETE TYPE "C' MANHOLE FOR 48" STORM SEWER AND LARGER INCLUDES ADJUSTEMENT, (ALL DEPTHS), COMPLETE IN PLACE	EA	2	\$11,536.00	\$23,072.00
4	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	571	\$3.00	\$1,713.00
5	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN TEH BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$2,000.00	\$2,000.00
6	REGRADE EXISTING DRAINAGE SWALE, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE- APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	515	\$10.00	\$5,150.00
7	REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "E" INLET TOP, TWO SIDES OPEN, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$40,301.00	\$40,301.00
8	REMOVE AND OFFSITE DISPOSAL OF STORM SEWER OUTFALL, INCLUDES SLOPE PAVEMENT, SLOPED END TREATMENT, AND ALL APPURTENANCES, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$15,000.00	\$15,000.00
9	REMOVE AND RELOCATE 18" THICK CONCRETE RIP RAP, INCLUDES REPLACEMENT OF GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	148	\$65.00	\$9,620.00
SUBTOT	AL STORM SEWER SYSTEM ITEMS - MUD REIMBURSABLE				\$315,201.00
	SEWER SYSTEM ITEMS - PRIVATE ITEMS 48" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	130	\$323.00	\$41,990.00
2	5'X5' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	177	\$637.00	\$112,749.00
3	REINFORCED CONCRETE TYPE "C' MANHOLE FOR 48" STORM SEWER AND LARGER INCLUDES ADJUSTEMENT, (ALL DEPTHS), COMPLETE IN PLACE	EA	3	\$11,536.00	\$34,608.00
4	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	307	\$3.00	\$921.00
5	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN TEH BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$2,000.00	\$2,000.00
6	REGRADE EXISTING DRAINAGE SWALE, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE- APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	98	\$15.00	\$1,470.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

#### CONSTRUCTION OF THE DRAINAGE FACILITIES TO SERVE SPRING CREEK TRAILS SECTION 1 PHASE 2

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 159 MONTGOMERY COUNTY, TEXAS FEBRUARY 26, 2025 UA ENGINEERING, INC. A.CAROTHERS FEBRUARY 27, 2025 2022-2116 (9.2)

				5) KENNETH LAMB C	ONSTRUCTION CO., LTD.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
7.	REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "E" INLET TOP, TWO SIDES OPEN, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$40,301.00	\$40,301.00
8.	REMOVE AND RELOCATE 18" THICK CONCRETE RIP RAP, INCLUDES REPLACEMENT OF GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	187	\$65.00	\$12,155.00
9.	OUTFALL SLOPE PROTECTION NO. 1 FOR 5'X5 RCB STORN SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOXTEXTILE FABRIC, COMPLETE IN PLACE	EA	1	\$15,000.00	\$15,000.00
				-	40.00.00

SUBTOTAL STORM SEWER SYSTEM ITEMS - PRIVATE ITEMS

\$261,194.00